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Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634043646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340172401. 1

686340172402. 2

686340172403. 3
686340172404. 4

Question Number : 2 Question Id : 68634043647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340172405. 1
686340172406. 2
686340172407. 3
686340172408. 4



Question Number : 3 Question Id : 68634043648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401724009. 1
686340172410. 2

686340172411. 3
686340172412. 4

Question Number : 4 Question Id : 68634043649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340172413. 1
686340172414. 2

686340172415. 3
686340172416. 4

Question Number : 5 Question Id : 68634043650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340172417. 1
686340172418. 2
686340172419. 3
686340172420. 4

Question Id : 68634043645 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634043646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340172401. 1
686340172402. 2
686340172403. 3
686340172404. 4

Question Number : 2 Question Id : 68634043647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340172405. 1
686340172406. 2
686340172407. 3
686340172408. 4

Question Number : 3 Question Id : 68634043648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340172409. 1
686340172410. 2
686340172411. 3
686340172412. 4

Question Number : 4 Question Id : 68634043649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340172413. 1
686340172414. 2
686340172415. 3



686340172416. 4

Question Number : 5 Question Id : 68634043650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and tallkies were destined to become obsolete
4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340172417. 1
686340172418. 2
686340172419. 3
686340172420. 4

Sub-Section Number : 2
Sub-Section Id : 6863401428
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634043651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood in Dartmoor National Park

1.LAB.C.D

[ ]

DCB.A
3.B.D.A.C
4.C,A,D,B

Options :

686340172421. 1
686340172422. 2
686340172423. 3
686340172424. 4



Question Number : 6 Question Id : 68634043651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood in Dartmoor National Park

LABC.D

| )

.D,C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340172421. 1
686340172422. 2
686340172423. 3
686340172424. 4

Question Number : 7 Question Id : 68634043652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

fa—y

. Epigraphy

[ )

. Calligraphy

Lad

. Cartography

=

. Topography

Options :

686340172425. 1
686340172426. 2
686340172427. 3
686340172428. 4

Question Number : 7 Question Id : 68634043652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340172425. 1
686340172426. 2
686340172427. 3
686340172428. 4

Question Number : 8 Question Id : 68634043653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340172429. 1
686340172430. 2
686340172431. 3
686340172432. 4

Question Number : 8 Question Id : 68634043653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340172429. 1
686340172430. 2



686340172431. 3
686340172432. 4

Question Number : 9 Question Id : 68634043654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill in the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340172433. 1

686340172434. 2

686340172435. 3
686340172436. 4

Question Number : 9 Question Id : 68634043654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside
4. with. on
Options :
686340172433. 1
686340172434. 2

686340172435 3
686340172436. 4

Question Number : 10 Question Id : 68634043655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340172437. 1
686340172438. 2
686340172439. 3
686340172440. 4

Question Number : 10 Question Id : 68634043655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340172437. 1
686340172438. 2
686340172439. 3
686340172440. 4



Question Number : 11 Question Id : 68634043656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340172441. 1
686340172442. 2
686340172443. 3
686340172444. 4

Question Number : 11 Question Id : 68634043656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340172441. 1
686340172442. 2
686340172443. 3
686340172444. 4

Question Number : 12 Question Id : 68634043657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340172445. 1
686340172446. 2
686340172447. 3
686340172448. 4

Question Number : 12 Question Id : 68634043657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340172445. 1
686340172446. 2
686340172447. 3
686340172448. 4

Question Number : 13 Question Id : 68634043658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L P58 BFEE
2. 10:9
3. 114:113

4, 196:187

Options :

686340172449. 1
686340172450. 2
686340172451. 3
686340172452. 4

Question Number : 13 Question Id : 68634043658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340172449. 1
686340172450. 2
686340172451. 3
686340172452. 4

Question Number : 14 Question Id : 68634043659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year is ¥ 56. The sum 1s:

1.2 5,780

[ ]
AH
=
e}
=
F



Options :

686340172453. 1
686340172454. 2
686340172455. 3
686340172456. 4

Question Number : 14 Question Id : 68634043659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.3 5,780
2.3 7.805
3.2 7.850
4,3 8,750
Options :
686340172453. 1
686340172454. 2

686340172455. 3
686340172456. 4

Question Number : 15 Question Id : 68634043660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them 1s 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he 1s 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years
4. 28 years
Options :
686340172457. 1
686340172458. 2

686340172459. 3
686340172460. 4

Question Number : 15 Question Id : 68634043660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 vears

| )

. 25 years
3. 26 years
4. 28 years
Options :
686340172457. 1
686340172458. 2

686340172459. 3
686340172460. 4

Question Number : 16 Question Id : 68634043661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing,

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340172461. 1
686340172462 2
686340172463. 3
686340172464. 4

Question Number : 16 Question Id : 68634043661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows

Options :

686340172461. 1
686340172462 2
686340172463. 3
686340172464. 4

Question Number : 17 Question Id : 68634043662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340172465. 1
686340172466. 2
686340172467. 3
686340172468. 4

Question Number : 17 Question Id : 68634043662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340172465. 1
686340172466. 2
686340172467. 3
686340172468. 4

Question Number : 18 Question Id : 68634043663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340172469. 1
686340172470. 2
686340172471. 3
686340172472. 4

Question Number : 18 Question Id : 68634043663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340172469. 1
686340172470. 2
686340172471. 3
686340172472. 4

Question Number : 19 Question Id : 68634043664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the mirror image of the given combination
"ANS4WMG3"
LEOMWEREZHMA
ZEDWMPSNY
33GWMt2 MV
41 ECWMYPIUY
Options :
686340172473. 1
686340172474. 2

686340172475. 3
686340172476. 4

Question Number : 19 Question Id : 68634043664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340172473. 1
686340172474. 2
686340172475. 3
686340172476. 4

Question Number : 20 Question Id : 68634043665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340172477. 1
686340172478. 2
686340172479. 3
686340172480. 4

Question Number : 20 Question Id : 68634043665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340172477. 1
686340172478. 2
686340172479. 3
686340172480. 4

Question Number : 21 Question Id : 68634043666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite
4. INSAT
Options :
686340172481. 1
686340172482. 2

686340172483. 3
686340172484. 4

Question Number : 21 Question Id : 68634043666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340172481. 1
686340172482. 2
686340172483. 3
686340172484. 4

Question Number : 22 Question Id : 68634043667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340172485. 1
686340172486. 2
686340172487. 3
686340172488. 4

Question Number : 22 Question Id : 68634043667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. AIIL, B-IV, C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340172485. 1
686340172486. 2
686340172487. 3
686340172488. 4

Question Number : 23 Question Id : 68634043668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

[F%]

. Interpellation
4. Yielding the floor

Options :

686340172489. 1
686340172490. 2
686340172491. 3
686340172492. 4

Question Number : 23 Question Id : 68634043668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340172489. 1
686340172490. 2
686340172491. 3
686340172492. 4

Question Number : 24 Question Id : 68634043669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. A-II B-TV, C-1, D-1II

Options :

686340172493. 1
686340172494 2
686340172495. 3
686340172496. 4

Question Number : 24 Question Id : 68634043669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340172493. 1
686340172494 2
686340172495. 3
686340172496. 4

Question Number : 25 Question Id : 68634043670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4, Epicentre

Options :

686340172497. 1

686340172498. 2

686340172499. 3
686340172500. 4

Question Number : 25 Question Id : 68634043670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340172497. 1
686340172498. 2
686340172499. 3
686340172500. 4

Part B: Sociology

Section Id : 686340860
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401429
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634043671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A strategy of inquiry in which the researcher explores in depth a program. activity. institution.

1. Phenomenological Research
2. Narrative Research
3. Case Study
4. Ethnography

Options :

686340172501. 1

686340172502. 2

686340172503. 3
686340172504. 4



Question Number : 26 Question Id : 68634043671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ugdrs @ Us faftl o Siuedl ue eried, nfafafy, dwim & Tewrs 3 @i odl gl
1. HECHTLE QY
 fageumas 9y

[

.Y gy

e e

Options :

686340172501. 1
686340172502. 2
686340172503. 3
686340172504. 4

L]

=S

Question Number : 27 Question Id : 68634043672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the one which is net an online database.

1. ERIC

| B

. Proquest
3. Google Scholar
4, Quetext

Options :

686340172505. 1
686340172506. 2
686340172507. 3
686340172508. 4

Question Number : 27 Question Id : 68634043672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eI 7 & W S W1 T e Seey Te 6
1. ERIC
2 W&
3. T Do
4. LT

Options :

686340172505. 1
686340172506. 2
686340172507. 3
686340172508. 4

Question Number : 28 Question Id : 68634043673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of non-probability sampling?

1. Multi-stage cluster sampling

[ ]

. Quota sampling
3. Stratified random sampling
4. Simple random sampling

Options :

686340172509. 1
686340172510. 2
686340172511. 3
686340172512. 4

Question Number : 28 Question Id : 68634043673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340172509. 1
686340172510. 2
686340172511. 3
686340172512. 4

Question Number : 29 Question Id : 68634043674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a disadvantage of using questionnaire method of data collection?

1. Cheaper to administer

[ )

. No interviewer variability

Lad

. Cannot prompt
4. Convenient for respondents

Options :

686340172513. 1
686340172514. 2
686340172515. 3
686340172516. 4

Question Number : 29 Question Id : 68634043674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S FIEUI DY & (e TRl a2 T HaRT B © 791 F I 1 91 U T © -

1. {IfoId @3- | 951

2. e REdT B fi=ar 9ef
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Options :

686340172513. 1
686340172514. 2
686340172515. 3
686340172516. 4

Question Number : 30 Question Id : 68634043675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was made the distinction between descriptive understanding and explanatory understanding ?
1. MLN. Srinivas
2. Karl Marx
3. Emile Durkheim

4, Max Weber
Options :
686340172517. 1
686340172518. 2

686340172519. 3
686340172520. 4

Question Number : 30 Question Id : 68634043675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 3 o fomRonaT® (feaforfted) e auT ool ® (URHes)) THe 3 SfiR &1 Wy faan § -
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Options :

686340172517. 1
686340172518. 2
686340172519. 3
686340172520. 4

Question Number : 31 Question Id : 68634043676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who 1s the author of the book "The Mothers" ?
1. R. Briffault
2. L.H. Morgan
3. 1.G. Frazer

4. G.P. Murdock

Options :
686340172521. 1
686340172522. 2



686340172523. 3
686340172524. 4

Question Number : 31 Question Id : 68634043676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T I IS P AGD DI 82
1. 3R, e
2. QeL.0d. HHiA
3. LS TR

4. 51101 RSP

Options :

686340172521. 1
686340172522. 2
686340172523. 3
686340172524. 4

Question Number : 32 Question Id : 68634043677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A group which serves as a model for making evaluations or decisions 1s called

1. Primary Group
2. In-Group
3. Reference Group
4. Secondary Group

Options :

686340172525. 1

686340172526. 2

686340172527. 3
686340172528. 4

Question Number : 32 Question Id : 68634043677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172525 1
686340172526. 2
686340172527. 3
686340172528. 4

Question Number : 33 Question Id : 68634043678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the author of the book "The Second Sex" ?

1. Sigmund Freud

[

. Judith Butler
3. Simone de Beauvoir
4. Patricia Uberoi

Options :

686340172529. 1
686340172530. 2
686340172531. 3
686340172532. 4

Question Number : 33 Question Id : 68634043678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G YPUS Yo" J&ID b o@D DI 52
1. s ras
2. Gffery deer
3. FqHF-SlsgarR
4. UfcTRm skl

Options :



686340172529. 1
686340172530. 2
686340172531. 3
686340172532. 4

Question Number : 34 Question Id : 68634043679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The kinship system in which the maternal uncle enjoys a pre-eminent place in the life and affections of his
nephews and nieces 1s known as

1. Tekronymy
2. Amitate
3. Couvade

4. Avunculate

Options :

686340172533. 1
686340172534. 2
686340172535. 3
686340172536. 4

Question Number : 34 Question Id : 68634043679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AdER! B 98 ST forg T S0 Hisl 9 Uifsmi & Silas 9U e T U [y w1 &1 9@ i
Xl 5. Dol ¢ -

1. AP e
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Options :

686340172533. 1
686340172534. 2
686340172535. 3
686340172536. 4

Question Number : 35 Question Id : 68634043680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The research that directly addresses the mixing of the quantitative and qualitative methods :

1. Mixed Method Research

| B

. Inferential Research

LIPS ]

. Qualitative Research
4. Quantitative Research

Options :

686340172537. 1
686340172538. 2
686340172539. 3
686340172540. 4

Question Number : 35 Question Id : 68634043680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 QY Sl U U 4 TS Ul ST iy & ffia sl &-
1. Torfsra fafe 2y
2. A YR 2y

3. UMD [y
4. GEATED Y

Options :

686340172537 1
686340172538. 2
686340172539. 3
686340172540. 4

Question Number : 36 Question Id : 68634043681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To enter the subjective worlds of those studied. and to see these worlds from their point of view 1s the major
aim of :

—

. Ethnography

| )

. Participant observation
3. Non-Participant observation
4. Grounded theory

Options :



686340172541. 1
686340172542. 2
686340172543. 3
686340172544. 4

Question Number : 36 Question Id : 68634043681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fogia sregud fooar 3 favguRe d | YaRl &A1 dUT 39 d Bl 3 e¥HI0 8 @], 39F]
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1. T eiE-
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Options :

686340172541. 1
686340172542. 2
686340172543. 3
686340172544. 4

Question Number : 37 Question Id : 68634043682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term used to describe the most frequently occurring category of a non-numeric variable

1. Mean

[ )

. Median
3. Mode
4. Dispersion

Options :

686340172545. 1
686340172546. 2
686340172547. 3
686340172548. 4

Question Number : 37 Question Id : 68634043682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172545. 1
686340172546. 2
686340172547. 3
686340172548. 4

| )

L

Question Number : 38 Question Id : 68634043683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An attitude of mind deemed proper for a scientific investigator, detached, unprejudiced, open to whatever the
evidence may reveal.

1. Subjectivity

| )

. Objectivity

Laa

. Object Relations
4. Subject Relations

Options :

686340172549. 1

686340172550. 2

686340172551. 3
686340172552. 4

Question Number : 38 Question Id : 68634043683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% AHTE =fBHiur ot afe @eidwdl & g 3fad: qduRon gad. dew ey o +ft wga veiRfa e -
1. fqwguRaed
AR RBI
9% gdY
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Options :
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[#5]



686340172549. 1
686340172550. 2
686340172551. 3
686340172552. 4

Question Number : 39 Question Id : 68634043684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Durkheim, which of the following 18 NOT a characteristic of social facts ?

1. Internal

(B

. General
3. Coercive
4. Sui generis
Options :
686340172553. 1
686340172554. 2

686340172555. 3
686340172556. 4

Question Number : 39 Question Id : 68634043684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172553. 1
686340172554. 2
686340172555. 3
686340172556. 4
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Question Number : 40 Question Id : 68634043685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A hierarchical organizational structure designed rationally to co-ordinate the work of many individuals in the
pursuit of large scale administrative tasks and organizational goals.

1. Bureaucracy
2. Ideal type

3. Gememschaft
4. Gessellschaft

Options :

686340172557. 1
686340172558. 2
686340172559. 3
686340172560. 4

Question Number : 40 Question Id : 68634043685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340172557. 1
686340172558. 2

686340172559. 3
686340172560. 4

Question Number : 41 Question Id : 68634043686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who distinguished between T' and 'me’, between person's real inner self and his public front?
1. Karl Manheim
2. Max Weber
3. Durkheim

4. G.H. Mead

Options :



686340172561. 1
686340172562. 2
686340172563. 3
686340172564. 4

Question Number : 41 Question Id : 68634043686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172561. 1
686340172562 2
686340172563. 3
686340172564. 4

Question Number : 42 Question Id : 68634043687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A term usually confined to those sociological approaches that regard 'meaning’ and "action’ as the prime object
of sociology.

L. Intersectional Sociology
2. Interpretive Sociology
3. Interpersonal Sociology
4. International Sociology

Options :

686340172565. 1

686340172566. 2

686340172567. 3
686340172568. 4

Question Number : 42 Question Id : 68634043687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172565. 1
686340172566. 2
686340172567. 3
686340172568. 4

(5]
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Question Number : 43 Question Id : 68634043688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who defined, Sociology 1s a study of Social Action.

1. Marx

| B

. Radcliffe-Brown

L% ]

. Spencer
4. Weber
Options :
686340172569. 1
686340172570. 2

686340172571. 3
686340172572. 4

Question Number : 43 Question Id : 68634043688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172569. 1
686340172570. 2
686340172571. 3
686340172572. 4

Question Number : 44 Question Id : 68634043689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Perspective that views society as a set of interconnected parts together form a whole.

1. Evolutionism
2. Interpretativism
3. Materialism
4. Functionalism

Options :

686340172573. 1

686340172574. 2

686340172575. 3
686340172576. 4

Question Number : 44 Question Id : 68634043689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340172573. 1
686340172574.2

686340172575. 3
686340172576. 4
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Question Number : 45 Question Id : 68634043690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A process of attempting to change one's rank by giving up attributes that define a caste as low and adopting
attributes that are indicative of higher status is called:

1. Caste Integration
2. Caste Mobility
3. Sanskritzation
4, Westernisation
Options :
686340172577. 1
686340172578. 2

686340172579. 3
686340172580. 4

Question Number : 45 Question Id : 68634043690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. WA

4. QigHEHI0
Options :
686340172577. 1
686340172578. 2

686340172579. 3
686340172580. 4

Question Number : 46 Question Id : 68634043691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A hypothesis which shows no relationship or no significant difference between groups on a variable.

1. Null hypothesis

b2

. Alternate Hypothesis

L¥ 5]

. Directional Hypothesis

4. Non directional hypothesis



Options :

686340172581. 1
686340172582. 2
686340172583. 3
686340172584. 4

Question Number : 46 Question Id : 68634043691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172581. 1
686340172582. 2
686340172583. 3
686340172584. 4

[#5]

Question Number : 47 Question Id : 68634043692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A process whereby religious thinking. practice and mstitutions lose social significance.
1. Modern cycle
2. Institutionalisation
3. Secularization

4, Functionalization

Options :

686340172585. 1
686340172586. 2
686340172587. 3
686340172588. 4

Question Number : 47 Question Id : 68634043692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Uishal forgd enfifes faaR, Tl 9u1 == 319-1 9Tfoie Aed @1 od &
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Options :
686340172585. 1
686340172586. 2

686340172587. 3
686340172588. 4

a—y

| )
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Question Number : 48 Question Id : 68634043693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Segmental division of society. hierarchy. endogamy. restrictions on feeding and social intercourse are some of
the features of :

1. Family

2. Religion

3. Caste system
4. Education

Options :

686340172589. 1
686340172590. 2
686340172591. 3
686340172592. 4

Question Number : 48 Question Id : 68634043693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172589. 1
686340172590. 2
686340172591. 3
686340172592. 4

Question Number : 49 Question Id : 68634043694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The individual especially the child acquires and assimilate the values and modes of behaviour of his society
through :

1. Actualization

| )

. Socialization
3. Individualization

4, Acculturation

Options :

686340172593. 1
686340172594 2
686340172595. 3
686340172596. 4

Question Number : 49 Question Id : 68634043694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o IR STeTeh / STieeh] JHIS & SaeR & aXid] quT HFCS! g Hedl $1 3Hfoid quT Wit
& GRI fbar S g |

1. AR
gHTSHI0]

4. TREEPIAHRO]
Options :
686340172593. 1
686340172594. 2

686340172595. 3
686340172596. 4

| ]

L]

Question Number : 50 Question Id : 68634043695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most elementary process of social life without which society is impossible and it helps for the promotion
of common ends or objectives is called

1. Co-operation

| )

. Conflict

Lad

. Enmity
4. Anguish

Options :

686340172597. 1
686340172598. 2
686340172599. 3
686340172600. 4

Question Number : 50 Question Id : 68634043695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YIS oifa @t 9aY Sifi® gayd uishar fords [T TaTs &7 SH1 SRy § TUT U8 Wiag 9o a1
e ot iy ¥ g8Tge 8. Fedldi o -

1. FgdiT
1

4. 714
Options :
686340172597. 1
686340172598. 2

686340172599. 3
686340172600. 4

| )

[#5]

Question Number : 51 Question Id : 68634043696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Market and production in different countries are becoming increasingly interdependent due to dynamics of
trade in goods services and flows of capital and technology. This process is known as

1. Knowledge production
2. Privatization
3. Market Economy
4. Globalization
Options :
686340172601. 1
686340172602. 2

686340172603. 3
686340172604. 4

Question Number : 51 Question Id : 68634043696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafi= =i & STeR quT Sere -, J1d quT Harsii & AR ®f faRiiedr & SRl JuT dsl d do-id &
YAIE & PRUL YRR (H1Rd 9g 281 ¢ 1 9 Wil deard! § -
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Options :

686340172601. 1
686340172602. 2
686340172603. 3
686340172604. 4

Question Number : 52 Question Id : 68634043697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A strategic plan for a research project that sets out the broad outline. methods of data collection and analysis s
referred to as :

1. Case-study

2. Research ethics

3. Multi-level model

4. Research design
Options :
686340172605. 1
686340172606. 2

686340172607. 3
686340172608. 4

Question Number : 52 Question Id : 68634043697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w@awﬁ;ﬁw%ﬁgﬁmﬁw.aﬁ@m@%aﬁﬁm%w%@wﬁm
BEAdIl g -

1. UHd Y
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Options :

686340172605. 1
686340172606. 2
686340172607. 3
686340172608. 4

Question Number : 53 Question Id : 68634043698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



You have been asked to write a detailed report on good practices in policy research. Which of the following

methods would you choose ?

1. Survey method

| )

. Statistical analysis

Lag

. Case-study method
4. Observation

Options :

686340172609. 1
686340172610. 2
686340172611. 3
686340172612. 4

Question Number : 53 Question Id : 68634043698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe s Hifa Ty & 399 yurel 9 ve fawanfya ol foem & se1 9 at g = § 9 feg fafa @
I B |
1. 94 fafyr
2. eI g faueyor
3. Uhd (bH) 31y fafd
4. gD
Options :
686340172609. 1
686340172610. 2

686340172611. 3
686340172612. 4

Question Number : 54 Question Id : 68634043699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the mean of the following numbers :
100, 200, 600

1. 100

[

. 200

3. 300

4. 600



Options :

686340172613. 1
686340172614. 2
686340172615. 3
686340172616. 4

Question Number : 54 Question Id : 68634043699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferfaaa deamsi! o1 A1 19 DI
100. 200. 600

1. 100

[ ]
| ]
=
o=

4, 600

Options :

686340172613. 1
686340172614. 2
686340172615. 3
686340172616. 4

Question Number : 55 Question Id : 68634043700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An untested statement about the relationship between concepts within a given theory is called

1. Research design
2. Pilot study
3. Hypothesis
4. Case-study

Options :

686340172617. 1

686340172618. 2

686340172619. 3
686340172620. 4

Question Number : 55 Question Id : 68634043700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172617. 1
686340172618. 2
686340172619. 3
686340172620. 4

Question Number : 56 Question Id : 68634043701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The difference between Material & Non-Material culture is known as

1. Cultural difference

| )

. Cultural consciousness

LIPS ]

. Cultural lag

4, Cultural deviation

Options :

686340172621. 1
686340172622. 2
686340172623. 3
686340172624. 4

Question Number : 56 Question Id : 68634043701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wie 7 R Tl & 7 SR Heamd &
1. Y idd 3fa¥
2. Hip i Rl

3. P ids faens

4. GRpid® fada

Options :



686340172621. 1
686340172622. 2
686340172623. 3
686340172624. 4

Question Number : 57 Question Id : 68634043702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A system of an agency of formal social control :-

1. Mores

(B

. Folkways
3. Religion
4. Law

Options :

686340172625. 1
686340172626. 2
686340172627. 3
686340172628. 4

Question Number : 57 Question Id : 68634043702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T8 U IHIfoe a0 &t cogRi g -

1. =iedl

ASERICD

o
4. BT

Options :

686340172625. 1

686340172626. 2

686340172627. 3
686340172628. 4

| ]

L]

Question Number : 58 Question Id : 68634043703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Social mobility is classified mto :

1. Positive & Negative Mobility

| B

. Inward & Outward Mobility
3. Material & Non Material Mobility
4. Vertical & Horizontal Mobility
Options :
686340172629. 1
686340172630. 2

686340172631. 3
686340172632. 4

Question Number : 58 Question Id : 68634043703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qriSIes il &1 (e | aiiied faar o Jadl o
1. 91 G BUTHD TMiLiedl
3R g argl Tferfierar
3. Hifde a TR-Hifae mio=fiaa
4. FHeateR g Qfas niaeiiea

Options :

686340172629. 1
686340172630. 2
686340172631. 3
686340172632. 4

| ]

Question Number : 59 Question Id : 68634043704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Durkheim. Sociology is the study of

1. Social Mobility

b2

. Social Facts
3. Social Action

4. Social Relations

Options :
686340172633. 1



686340172634. 2
686340172635. 3
686340172636. 4

Question Number : 59 Question Id : 68634043704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3EIH & HTHR, FHCH P AT B -

1. QAT Tiriiedn

 HISS J2

AT B
4. SIS HaY

Options :

686340172633. 1

686340172634. 2

686340172635. 3
686340172636. 4

[ ]

L]

Question Number : 60 Question Id : 68634043705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A branch of Sociology which largely coincides with social work or social welfare in which the findings or
conclusions of Sociology are applied to concrete cases.

1. Experimental Sociology
2. Synthetic Sociology
3. Formal Sociology
4. Applied Sociology
Options :
686340172637. 1
686340172638. 2

686340172639. 3
686340172640. 4

Question Number : 60 Question Id : 68634043705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT &1 U [y &, forgs grarfores seamr gy 9Efeid il 9 TR 9 5d G171 8. GaeEry
& s a1 afef® o1 v, ardfas gawnsi o fear e g

%) 31 [RA G Rapal (G5
. AT GO
 GEAlG! GHISRIH

—

| )

(5]

=

Options :

686340172637. 1
686340172638. 2
686340172639. 3
686340172640. 4

Question Number : 61 Question Id : 68634043706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The first Bacloward Class Commission constituted in 1953, was called :

1. Kaka Kalelkar Conunission

[ ]

. Mandal Commission
3. Sachar Commission

4. Kharia Comunission
Options :
686340172641. 1
686340172642. 2

686340172643. 3
686340172644. 4

Question Number : 61 Question Id : 68634043706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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U N
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4, QST AT

| ]

L



Options :

686340172641. 1
686340172642. 2
686340172643. 3
686340172644. 4

Question Number : 62 Question Id : 68634043707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rule by a male head of a social unit over other men. all women and children is called :

1. Masculinity
2. Heterosexuality
3. Intersectionality
4, Patriarchy

Options :

686340172645. 1

686340172646. 2

686340172647. 3
686340172648. 4

Question Number : 62 Question Id : 68634043707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS AT SPTS § o0 TUF §RIT 3 Gou, Tuft afgarsi aur s=i ok 2, Feard -
1. Jo5d
fawmfemersd
R BN RS I
4. TOgEAED

Options :

686340172645. 1
686340172646. 2
686340172647. 3
686340172648. 4

| )

L

Question Number : 63 Question Id : 68634043708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statement : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : According to Marx. for revolution to occur, the proletariat must transform from a 'class in itself
to a 'class for itself.

Reason R : One of the reasons of this transformation is the inereasing economic and social distance between
the bourgeoisie and the working class.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

686340172649. 1
686340172650. 2
686340172651. 3
686340172652. 4

Question Number : 63 Question Id : 68634043708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172649. 1
686340172650. 2
686340172651. 3
686340172652. 4

Question Number : 64 Question Id : 68634043709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statement : one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Likert Scale is used to measure intensity of feelings about the area in questions.

Reason R : The items that make up the scale need not be interrelated.

In the light of the above statements, choose the most apprapriate answer from the options given below -

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R correct but R 1s NOT the correct explanation of A
3. A 1is correct but R is not correct

4. A iz not correct but R is correct

Options :

686340172653. 1
686340172654. 2
686340172655. 3
686340172656. 4

Question Number : 64 Question Id : 68634043709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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$U T:
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Options :

686340172653. 1
686340172654. 2
686340172655. 3
686340172656. 4

Question Number : 65 Question Id : 68634043710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statement : one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Caste 15 endogamous.

Reason R : Caste forbids 1ts members to marry persons from outside.

In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 15 NOT the correct explanation of A
3. A is true but R 1s false

4, A is false but R is true

Options :

686340172657. 1
686340172658. 2
686340172659. 3
686340172660. 4

Question Number : 65 Question Id : 68634043710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HU fAU U §: U@ SHTUPHUF (Assertion A) & =0 H fARGT § o GIRT 3HP PRI (Reason R) B
3O
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Options :

686340172657. 1
686340172658. 2
686340172659. 3
686340172660. 4

Question Number : 66 Question Id : 68634043711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Grve below are two statement - one 1s labelled as Assertion A and the other 15 labelled as Reason R
Assertion A : Communities are more stable than the associations.

Reason R : Community requires no specific efforts for the members to bring it into existence.

In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 15 NOT the correct explanation of A
3. A is true but R 1s false

4, A is false but R is true

Options :

686340172661. 1
686340172662. 2
686340172663. 3
686340172664. 4

Question Number : 66 Question Id : 68634043711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172661. 1
686340172662. 2
686340172663. 3
686340172664. 4

Question Number : 67 Question Id : 68634043712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statement : one 1s labelled as Assertion A and the other 15 labelled as Reason R
Assertion A : A norm 1s a shared expectation of behaviour that 1s considered culturally appropriate.
Reason R : Norms regulate the behaviour although thev lack the formal status of rules.

In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 15 NOT the correct explanation of A
3. A is true but R 1s false

4, A is false but R is true

Options :

686340172665. 1
686340172666. 2
686340172667. 3
686340172668. 4

Question Number : 67 Question Id : 68634043712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HU fAU U §: U@ SHTUPHUF (Assertion A) & =0 H fARGT § o GIRT 3HP PRI (Reason R) B
3O
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3. AT S, AfTR 3T B

4. AT, APIRIAT

Options :

686340172665. 1
686340172666. 2
686340172667. 3
686340172668. 4

Question Number : 68 Question Id : 68634043713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statement : one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Assimilation is a natural and slow process.

Reason R : Rigidity and conservatism are the pre-requisites of assimilation.

In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 15 NOT the correct explanation of A
3. A is true but R 1s false

4, A is false but R is true

Options :

686340172669. 1
686340172670. 2
686340172671. 3
686340172672. 4

Question Number : 68 Question Id : 68634043713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HU fAU U §: U@ SHTUPHUF (Assertion A) & =0 H fARGT § o GIRT 3HP PRI (Reason R) B
SO

AU A - IR0 U Widpfeisp qut <fielt wichan 3 |

HRUI R : T¢dl d Flealladl HIE®HRU & Yd HaRa o |

JWRIFT BYF & Al 1. A ST U f[dHed] § U Ig1 3T Dl 94— BT |

1. ARREA T T R R AT TS TR
A SRR IH gd ©. dfh R. A DI U5 IR Tl §

3.AFIR. AfPTR AT ®

[

4. AT, APIRIAT

Options :

686340172669. 1
686340172670. 2
686340172671. 3
686340172672. 4

Question Number : 69 Question Id : 68634043714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statement : one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Non material culture consists of the ideas, customs and beliefs of people.

Reason R : Change in technology will not bring any change in culture.

In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 15 NOT the correct explanation of A
3. A is true but R 1s false

4, A is false but R is true

Options :

686340172673. 1
686340172674. 2
686340172675. 3
686340172676. 4

Question Number : 69 Question Id : 68634043714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HU fAU U §: U@ SHTUPHUF (Assertion A) & =0 H fARGT § o GIRT 3HP PRI (Reason R) B
3O

B A« i Tepla dil & faxar, fdaR qut Sfaal ¥ fBaes 91 63 ¢

HRUI R : dB-b U daalld, Hibld § dig 9adld To! A

QWRIFT BYF & Tl 4. A [SU U [dhedl H U Tl I &l 99 B I[9I0:

1. ARREA T T R R AT TS TR
2. ASRREFI T e, Afh R AT o AT ol &

3. AT S, AfTR 3T B

4. AT, APIRIAT

Options :

686340172673. 1
686340172674. 2
686340172675. 3
686340172676. 4

Question Number : 70 Question Id : 68634043715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following acts passed by Indian government in the order of earliest to latest:

A. Dowry Prohibition Act

B. Immoral Traffic (Prevention) Act

C. Protection of Women from Domestic Violence Act
D. The Equal Remuneration Act

E. Indecent Representation of Women (Prohibition) Act

Choose the correct answer from the options given below :

1. B-A-D-E-C

[

. A-B-E-D-C
3. A-B-D-C-E
4. B-A-C-E-D

Options :

686340172677. 1
686340172678. 2
686340172679. 3
686340172680. 4

Question Number : 70 Question Id : 68634043715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd IHR gR1 uikd f&a e efatag sifefaai o1 wRits 9 9dHa0 & o1 0 gaiyd $ifog -

A. S ufasg fufag

B. 3fa® amR (FHaro fafam

c. g foar ¥ Afgar dRew sfefan
D. 99 gy JHie-ag

E. Ui 31w =uuy (ufddsy) siafag

i fau e fgeedt & @ Ot SR &1 994 S

1. B-A-D-E-C

2. A-B-E-D-C
3. A-B-D-C-E
4. B-A-C-E-D

Options :

686340172677. 1
686340172678. 2
686340172679. 3
686340172680. 4



Question Number : 71 Question Id : 68634043716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following religious conumunities in ascending order of their population size as per 2011 Census of
India.

A, Sikhs

B. Muslims
C. Buddhists
D. Hindus

E. Christians

Choose the correct answer from the options given below :
1. E-C-A-B-D
2. A-C-E-B-D
3. E-B-C-A-D
4. C-A-E-B-D

Options :

686340172681. 1
686340172682. 2
686340172683. 3
686340172684. 4

Question Number : 71 Question Id : 68634043716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrefafaa unftie Tl &1 R B S-RT0FT 2011 & SFER 396 S8 & HYR &R SRig »F 5
SR PHITWTU -

A &g
s g
e
= fau e fawetl & § 98 TR &1 o BT

1. E-C-A-B-D

2

. A-C-E-B-D

[#5]

.E-B-C-A-D
4, C-A-E-B-D

Options :
686340172681. 1



686340172682. 2
686340172683. 3
686340172684. 4

Question Number : 72 Question Id : 68634043717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following sequence of research step is correct ?

A. Data analysis

B. Problem statement
C. Report writing

D. Data collection

E. Literature review

Choose the correct answer from the options given below :

1. A-B-C-D-E

| )

. B-D-A-E-C

(%]

.B-E-D-A-C
4. B-E-A-D-C

Options :

686340172685. 1
686340172686. 2
686340172687. 3
686340172688. 4

Question Number : 72 Question Id : 68634043717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 & 1 I iy =ROT e I R
A, 3P| BT fggay
B. I HYA
c. f¥gre saa
D. HhsT JUGU
E. ifecd gH:9L1&ul
1 ey U fsed! & 9 9E O @ 9 St

1. A-B-C-D-E

2

. B-D-A-E-C

L

. B-E-D-A-C

4, B-E-A-D-C



Options :

686340172685. 1
686340172686. 2
686340172687. 3
686340172688. 4

Question Number : 73 Question Id : 68634043718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the items given below on the basis of chronological increase in the size of population.

A, Metropolis

B. Neighbourhood
C. Village

D. City

E. Town

Choose the correct answer from the options given below :

1. D-B-E-A-C

[ ]

.B-C-E-D-A

L]

. C-E-D-B-A
4. B-C-A-D-E

Options :

686340172689. 1
686340172690. 2
686340172691. 3
686340172692. 4

Question Number : 73 Question Id : 68634043718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e el &1 3! Ol & YR IR SIAhHIER §¢d U ogdiyd Hifult -

A. Hemiferd
B. U-USIg
C. g
D. R
E.

- feu T fasedl H § Ugt 3R &1 99 Hifolt:
1. D-B-E-A-C
2. B-C-E-D-A
3. C-E-D-B-A
4. B-C-A-D-E

Options :

686340172689. 1
686340172690. 2
686340172691. 3
686340172692. 4

Question Number : 74 Question Id : 68634043719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Marx envisages the development of society as follows. Arrange in a chronological sequence of earliest to
recent.

A. Slave society

B. Capitalist society

C. Primitive communisim
D. Feudalism

E. Socialism

Choose the correct sequence from the options given below :
1. A-C-D-B-E

2. C-A-D-B-E

Lag

. C-B-A-D-E
4. B-C-A-D-E

Options :

686340172693. 1
686340172694. 2
686340172695. 3
686340172696. 4



Question Number : 74 Question Id : 68634043719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TH & [GHT &I Hea 30 JHR Hdl 6-

A, 19 AN
B. Yuilardi wHTe
C. 31i¢H grdrg
D. HH=Id1g
E. JHOdlG
Il fGu e fgedl © © U8 I @1 90 Sifeie:

1. A-C-D-B-E

| )

. C-A-D-B-E
3. C-B-A-D-E
4, B-C-A-D-E

Options :

686340172693. 1
686340172694. 2
686340172695. 3
686340172696. 4

Question Number : 75 Question Id : 68634043720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Comte, human mind passes through the following stages :

A. Theological
B. Classical

C. Metaphysical
D. Dialectical
E. Positive

Choose the correct answer from the options given below :

1. A-D-E

| )

. B-C-E

L

.A-C-E
4. D-C-A

Options :

686340172697. 1
686340172698. 2
686340172699. 3



686340172700. 4

Question Number : 75 Question Id : 68634043720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A SIETHY
B. kR ufafa
C. gaarat
D. GRS
E. TS

I fgu v fawreat © © U8 SR &1 90 e

1. A-D-E

| ]

.B-C-E
3. A-C-E
4. D-C-A

Options :

686340172697. 1
686340172698. 2
686340172699. 3
686340172700. 4

Question Number : 76 Question Id : 68634043721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Urbanism is the culture of towns and cities.

Statement IT : Urban population 1s homogeneous due to the population density.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT are incorrect

Lad

. Statement I is correct but Statement I1 is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

686340172701. 1
686340172702. 2
686340172703. 3
686340172704. 4

Question Number : 76 Question Id : 68634043721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fH gy fRRu U E:
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SRS FYT & AAP 1, - [0 0 fdmadi § I 9ol 39 &1 99 ifoi:
1. DU IR G A &
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Y1 I . Afh PUA 11 3T ©

| )

[#5]
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Options :

686340172701. 1
686340172702. 2
686340172703. 3
686340172704. 4

Question Number : 77 Question Id : 68634043722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement [ : Social Anthropology is the other name for Comparative Sociology.

Statement II : The above statement 1s associated with Emile Durkheim.

In the light of the above statements, choose the mast appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

686340172705. 1
686340172706. 2
686340172707. 3
686340172708. 4

Question Number : 77 Question Id : 68634043722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fa gy T MU E:
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PY 11 : IR DY SHIS gaigH 9 Faftd |
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Options :

686340172705. 1
686340172706. 2
686340172707 3
686340172708. 4

Question Number : 78 Question Id : 68634043723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement [ : Jajmani svstem is an expression of the interdependence of different castes.

Statement II : Jajmani system 1s an arrangement of different caste groups for exchanging goods and services.
In the light of the above statements, choose the mast appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340172709. 1
686340172710. 2
686340172711. 3
686340172712. 4

Question Number : 78 Question Id : 68634043723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fH gy fRRu U E:
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Options :

686340172709. 1
686340172710. 2
686340172711. 3
686340172712. 4

Question Number : 79 Question Id : 68634043724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Unlike caste, class svstem claims to be more open and based on individual achievement.
Statement II : Social mobility makes the class distinctions more rigid.

In the light of the above statements, choose the mast appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

[

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340172713. 1
686340172714. 2
686340172715. 3
686340172716. 4

Question Number : 79 Question Id : 68634043724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fa gy T U E:

FUT 1 TG 9 3. ariongw, cafdTd Suafeml & SyR W 3if¥s Gal g4 &1 amal HRdl ¢
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SRS FYF & AAP 1, - [0 0 fdbadi § I 9gl 39 &1 99 Sifoi:

1. DU IR G A &
FUAIAR I A T ©

Y1 I . Afh PUA 11 3T ©

| )

[#5]

PYTI T, APT PUT I I B

=

Options :

686340172713. 1
686340172714. 2
686340172715. 3
686340172716. 4

Question Number : 80 Question Id : 68634043725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement [ : Association 13 a group of people united for a specific purpose or a limited number of purposes.
Statement II : Community is a permanent social group embracing a totality of ends or purposes.

In the light of the above statements, choose the meast appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement IT are incorrect

L]

. Statement I is correct but Statement IT 1s incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340172717. 1
686340172718. 2
686340172719. 3
686340172720. 4

Question Number : 80 Question Id : 68634043725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 PYTI AT 8. AfPTPYI I IT B

Options :

686340172717. 1
686340172718. 2
686340172719. 3
686340172720. 4

Question Number : 81 Question Id : 68634043726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Eoles are essentially prescribed and static expectations of behavior, inherent in particular positions.
Statement II : The position to which a role is attached is called status.

In the light of the above statements, choose the meast appropriate answer from the options given below :

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

686340172721. 1
686340172722. 2
686340172723. 3
686340172724. 4

Question Number : 81 Question Id : 68634043726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172721. 1
686340172722. 2
686340172723. 3
686340172724. 4

Question Number : 82 Question Id : 68634043727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : According to Merton, retreatism refers to the rejection of both cultural goals and means.

Statement IT : According to Merton, innovation is the attempt to achieve a culturallv approved goal by unconventional
means.

In the light of the above statements, choose the most appropriare answer from the options given below :

1. Both Statement I and Statement I are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

686340172725. 1
686340172726. 2
686340172727. 3
686340172728. 4

Question Number : 82 Question Id : 68634043727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172725. 1
686340172726. 2
686340172727. 3
686340172728. 4

Question Number : 83 Question Id : 68634043728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : The word secular exists in the Preamble to the Constitution of India.

Statement IT : The 73" Amendment Act introduced the word secular in the Constitution of India.
In the light of the above statements, choose the mest appropriate answer from the options given below :

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement Il are false
3. Statement I is true but Statement IT is false

4, Statement I 1s false but Statement IT is true

Options :

686340172729. 1
686340172730. 2
686340172731. 3
686340172732. 4

Question Number : 83 Question Id : 68634043728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172729. 1
686340172730. 2
686340172731. 3
686340172732. 4

Question Number : 84 Question Id : 68634043729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement [ : Malinowski 15 known for his intensive fieldwork amongst the Trobriand islanders.
Statement II : He is also the author of the acclaimed book, "The Elementary Forms of Eeligious Life".
In the light of the above statements, choose the mast appropriate answer from the options given below :

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false

L]

. Statement I is true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

686340172733. 1
686340172734. 2
686340172735. 3
686340172736. 4

Question Number : 84 Question Id : 68634043729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340172733. 1
686340172734. 2
686340172735. 3
686340172736. 4

Question Number : 85 Question Id : 68634043730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement [ : The peaszants of Rampura village were identified by Srinivas to be the dominant caste.
Statement II : The peasants ranked higher than the Brahmins in the ritual hierarchyv.

In the light of the above statements, choose the mast appropriate answer from the options given below :

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false

L]

. Statement I is true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

686340172737. 1
686340172738. 2
686340172739. 3
686340172740. 4

Question Number : 85 Question Id : 68634043730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H gl py= iU T &

HYA 1 : IARI T & HYDI B! Tga HI-aM gRI Uaa Yollld & =9 J &1 Tx|

BYA 11 : T Uichd § PUD] B FIEI0N & Iod Gal (a1 T

SWRIgd BY B Al |, Hid [ U fad el § 3 9a9 Sugead 3R &1 99+ DIl
1. BYT1 R SH Tal §

YT R IEH A §

DY 1 e §. At HYE 11 7Ted §

U 1TTed ©, ST B I 9E &

| )

[#5]

=

Options :

686340172737. 1
686340172738. 2
686340172739. 3
686340172740. 4

Question Number : 86 Question Id : 68634043731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following forms of family has been identified by L.H. Morgan ?

A. Consanguine
B. Corporate
C. Patriarchal

D. Matriarchal
E. Punaluan

Choose the correct answer from the options given below :

1. B, C,E only

| )

.A.C.Donly
3. A, C.E only
4. A.B. C only

Options :

686340172741. 1
686340172742. 2
686340172743. 3
686340172744. 4

Question Number : 86 Question Id : 68634043731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F=rfafEa o 9 giaR & @19 9 USR U9.0E. O §R1 989 U &

A. IR

B. §3 ¥ H WG
c. fug sarae

D. AT TS

E. I SUas

e fou e famedt & © Wa IUgad SR &1 99 BifI:
1.%$ddu B, C.E
2. Pdd A, C.D
3. PAdA.C.E
4. PAdd A, B, C

Options :

686340172741. 1
686340172742. 2
686340172743. 3
686340172744. 4

Question Number : 87 Question Id : 68634043732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Robert Redfield, the characteristics of Little Community are

A, Completeness
B. Smallness

C. Homogeneity
D. Inclusiveness

E. Self-Sufficiency

Choose the correct answer from the options given below :
1. B.C.D only
2.B.C.E only
3.C.D. E only

4. A.D.E only

Options :

686340172745. 1
686340172746. 2
686340172747. 3
686340172748. 4



Question Number : 87 Question Id : 68634043732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EE ¥Sithes & SUR US BIc THaM & U g :
A, gEUd
B. BICTuA
C. gUEYdl
D. GGy
E. Sf@-FRa
=i feU T fadedl § U ol Jugdd I & 999 DITIL:
1.$4dd B, C.D
2. Pad B.C.E
3900 C.D.E

4. PATA.D.E

Options :

686340172745. 1
686340172746. 2
686340172747. 3
686340172748. 4

Question Number : 88 Question Id : 68634043733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Forms of suicide identified by Durkheim are

A, Anomie
B. Regulative
C. Restrictive
D. Altruistic
E. Egoistic

Choose the correct answer from the options given below :

1. A, B. C. only

| )

.A.D.E only

L

.B.D. E only
4. C.D.E only
Options :

686340172749. 1
686340172750. 2



686340172751. 3
686340172752. 4

Question Number : 88 Question Id : 68634043733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gEigy GRI UgaHI Tl STl & UPR § |

A T
B, i

C. wiasied
D. Wefardl/ sfeggied
E. 3fEHael §iighe®

- feu T faspedl © U Ul 3ugad IR &l 94 DiT:

1. AU A.B. C
2. PAUA.D.E
3.%auB.D.E
4.PauC.D.E

Options :

686340172749. 1
686340172750. 2
686340172751. 3
686340172752. 4

Question Number : 89 Question Id : 68634043734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Characteristics of Sanskrization are

A. It generally results in upward mobility

B. It tends to equate with Karma

C. It is related to science

D. It 1s the adoption of new customs and habits
E. It reveals socio-cultural mobility

Choose the correct answer from the options given below :

1. A.B. C only

[ )

.B.C.D only
3.A. D.E only

4.D.E. C only



Options :

686340172753. 1
686340172754. 2
686340172755. 3
686340172756. 4

Question Number : 89 Question Id : 68634043734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iR B fa=man §
A. U8 G HWR St dp Tfdiierdr o gionfad siars
B. U ®H & 1Y YHF & Ugid 3@d1 8
c. e faam e defias

D. U8 T Jfdl aur 3medl &1 9T 8
E. Ug AEIfee A fae nia=iiadr & yee ddl g

e fou e famedt & © Wa IUgad SR &1 99 BifI:
1. HAA A, B. C
2. $dd B, C.D
3. Pad0 A.D.E
4.9dd D, E. C

Options :

686340172753. 1
686340172754. 2
686340172755. 3
686340172756. 4

Question Number : 90 Question Id : 68634043735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gender diserimination occurs when

A. Women & men are located separately whilst participating in a broadly similar set of activities.
B. Deliberate legal / traditional policies of segregation adopted.

C. Women primarily excluded from paid work.

D. Women attained higher education

E. Women achieve political empowerment

Choose the correct answer from the options given below :

1. B. C,E only

[

.E.A. B only
3.D.C.Aonly

4. A B. C only

Options :

686340172757. 1
686340172758. 2
686340172759. 3
686340172760. 4

Question Number : 90 Question Id : 68634043735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST WeMTd Bidl 6. o7 :
A HI¢ IR W Us 90 Tidfaied T YrT dd gU Rl d Yoyl & S/ e Saied [ear T g |
B. S §21h3 YYFHU] &1 fafeladumrd Hifadi &1 sra-man |
C. Tl 1 Wiyihe =u 4 S (58 YIdH gidl 6. 9 g 3@l |l Ul

D. [l 3 3= P& urd &1
E. Rt Yrerifde gefdaeor gt sdt &

- ey Ty st & § 9l SUged I B 90 S
1.$ddB,C.E
2. PAUE.A.B
3.$du D, C.A
4. PAAA.B.C

Options :

686340172757. 1
686340172758. 2
686340172759. 3
686340172760. 4



Question Number : 91 Question Id : 68634043736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The characteristics of city life are :

A. Simplicity of life

B. Extended/joint family system
C. Anonymity

D. Social distance

E. Crowding

Choose the correct answer from the options given below :

1. A.B. C only

| )

.C.D. E only
3. B, C,D only
4.E.A. B only

Options :

686340172761. 1
686340172762. 2
686340172763. 3
686340172764. 4

Question Number : 91 Question Id : 68634043736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, I1aT Sffa
B. fawanid / Tged uRaR sga=n

C. AT
D. TS gl

E Ulg
+id fGU e faedl & § Tad 3Ugad Ja¥ & 98- HITu:

1. PAU A.B. C
2. $ddC.D.E
3.%auB.C.D
4. AU E. A. B

Options :

686340172761. 1
686340172762 2
686340172763. 3
686340172764. 4



Question Number : 92 Question Id : 68634043737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Characteristics of Post Industrial society :-

A. The dominant occupation of people 1s agriculture

B. Change from goods producing to a service economy

C. Predominance of secondary relationship

D. It 1s organised around culture

E. MINCs become the centre point in the post industrial society

Choose the most appropriate answer from the options given below :

1.A E.D only

| )

.D.C.Aonly
3.C.B.Donly

4.B.C.E only

Options :

686340172765. 1
686340172766. 2
686340172767. 3
686340172768. 4

Question Number : 92 Question Id : 68634043737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR 3= T &t fagsan 8
A T T80 a9 HiY 3
B. AT Idle® ¥ Jal iferawl & sean
c. fedig® daei ot gaaddr

D, 78 S & ART iR Rl e T 2
E. TR Sefiie 9ot & MNC (SgRIpT ol S g s e 3

= feu e fdw et & § 999 Sugad IR & 99 B
1. PIAA.E. D
2. %auD,C.A
3. $adC,B.D
4. HAUB, C,E

Options :
686340172765. 1



686340172766. 2
686340172767. 3
686340172768. 4

Question Number : 93 Question Id : 68634043738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ecriteria that characterize a dominant caste are

A. Numerieal strength

B. Sanskritization

C. A high ritual status in the local area
D. Political power and authority

E. Cultural association

Choose the most appropriate answer from the options given below :

1. A. C.E only

| )

.C.D. E only
3.D.B. C only
4. A. C.D only

Options :

686340172769. 1
686340172770. 2
686340172771. 3
686340172772. 4

Question Number : 93 Question Id : 68634043738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g% O1U<S ol Uad Sifd &1 fa=eard
A UEee g uad §
B. YD dIdpm
C. ST &3 H 3= WU wiagn
D. sl Lidd qul iUaR
E. Uikpidd 46y
- feu T fd@edl # 9 9y S9gad TR &1 99 Bl
1. PAUA.C.E
2. $adC.D.E
3.%auD.B.C

4. PAAA,C,D

Options :

686340172769. 1
686340172770. 2
686340172771. 3
686340172772. 4

Question Number : 94 Question Id : 68634043739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
(Concept) {(Thinker)
A Prmary Group [. [Erving Goffinan
B. |Dvyad and Triad II. |CH. Cooley
C. [Bureaucracy II1. |Georg Summel
D. [Total Institution IV, Max Weber

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV, D-ITI
2. A-IV. B-I1. C-III. D-1
3. A-IIT, B-11. C-IV. D-I
4. A-IL. B-IIIL. C-IV. D-I

Options :

686340172773. 1

686340172774. 2

686340172775. 3
686340172776. 4



Question Number : 94 Question Id : 68634043739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 & 1Y Yl 11 &7 e Sifse:
T 1 (SAFUTIOM) Tt 11 (ER®)
A Ui g4 I [gefaq e
B. [gdd aul A (S[MS s ¢le) II. [f.ud. &al
C. Fiowame 1. [STs fada
D. [pd ¥=IH IV. [Heg daR

=i fu U f[d@eg] § O T8l 3Tk &1 904 HIU:

1. A-IL, B-1, C-IV, D-III
2. A-TV, B-IL, C-III, D-I
3. A-III. B-II. C-IV. D-I
4. A-TL, B-III, C-IV. D-I

Options :

686340172773 1

686340172774. 2

686340172775. 3
686340172776. 4

Question Number : 95 Question Id : 68634043740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{Book) (Author)
A |The Process of Economic Growth| 1. |C. Wright Mills
B. |[The Ornigins of Our Time II. Pames Burnham
C. |The Managerial Revolution III. ['WW. Rostow
D_ |The Power Elite IV K. Polvani

Choose the correct answer from the options given below:

1. A-I, B-II C-III. D-IV

[ ]

CA-IV. B-IIL C-II1, D-I
3. A-III, B-1IV, C-II. D-I
4. A-IIL. B-1I. C-1. D-IV

Options :
686340172777. 1



686340172778. 2
686340172779. 3
686340172780. 4

Question Number : 95 Question Id : 68634043740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & Y G 11 BT e S
¥l 1 () i 1 (SR)
A G UIY % soHme aiy 1[4 use ™
B. [g 3R 3 AR e5H | I (g s=eH
C. [& BuiRgd Raiegz= 111 [S&Y S&cg ATCI|
D. [§ UIaR Taiie IV. & Ore=di
i fou T fasedl O I gl SR &1 999 Bifoy -

1. A-I. B-II. C-II1, D-IV

| ]

CA-TV, B-1IL C-II1L D-I
3. A-IIL B-IV. C-II, D-I
4. A-III, B-1I. C-1. D-IV

Options :

686340172777. 1
686340172778. 2
686340172779. 3
686340172780. 4

Question Number : 96 Question Id : 68634043741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Concept) LIST II (Thinker)
A Modernisation I |M.N. Srinivas
B. [Dominant Caste IT. [Mckim Marriot
C. |Parochialisation & Universalisation] III. |Dipankar Guptal
D. [Westoxication IV. [Yogendra Singhl

Choose the correct answer from the options given below:

1. A-III, B-IV. C-II. D-I

| E)

. A-L B-II, C-III. D-IV

3. A-IL B-1, C-III., D-IV

4. A-IV. B-1. C-II, D-III



Options :

686340172781. 1
686340172782. 2
686340172783. 3
686340172784. 4

Question Number : 96 Question Id : 68634043741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i

e 1 (SEURTM ?’Eﬁucﬁ?rm
A [amyfHDie . [mawA. siFary
B. [Ugd id 11. [Hid= Aivae
C. [HepfIcdiaol aul FraHHie| 111 [Suie el
D. [deiidadaE V. [arts fHiE

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-III, B-IV. C-1I. D-I

| o

A-L B-II, C-III. D-IV
3. A-IIL, B-I. C-III. D-IV
4. A-IV, B-1, C-1II, D-III

Options :

686340172781. 1
686340172782. 2
686340172783. 3
686340172784. 4

Question Number : 97 Question Id : 68634043742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Concept) LIST II (Definition)

A |Sentiment 1. |Position of individual in the society

B. [Norm II. [What we feel

C. [Status III. [Fewards & Punishments

D. |[Sanctions IV |Standards for determining what 1s appropriate and inappropriate

Choose the correct answer trom the options given below:

1. A-L. B-IL. C-III. D-IV
2. A-TIL B-IIL, C-IV. D-I
3. A-IL, B-IV, C-I. D-III
4. A-IV. B-II. C-III. D-I

Options :

686340172785. 1

686340172786. 2

686340172787. 3
686340172788. 4

Question Number : 97 Question Id : 68634043742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 9 |1y ¥l 11 T e Sy

T 1 (IEURUM) F 11 (Ui uTEn)

A |MTET 1. [cOigd &1 9H1s H UG

B. [UEs 11 [5f 89 3HHd $d &

C. [fcmT 1L [[THR d41 43

D. [gsdidfa IV. [3ferd du1 3frd & &1 el & fog A |

=i fau U f[d@eql § O 9al 37 &1 904 Bifelu

1. A-L B-II, C-IIL, D-IV
2. A-TII, B-II, C-IV, D-1
3. A-II, B-IV, C-1. D-III
4. A-TV, B-IL, C-III, D-I

Options :

686340172785. 1

686340172786. 2

686340172787. 3
686340172788. 4



Question Number : 98 Question Id : 68634043743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LIST I (Book) LIST IT (Author)
A [Religion & Society Among the Coorgs of South India I. [Louis Dumont
B. |Village India: Studies in the Little Community II. B R. Ambedkar]
C. |Annthilation of Caste III. MUN. Srintvas
D. [Homo Hierarchicus : The Caste System and ts implications] I'V. PMekin Marriot

Choose the correct answer from the options given below:

1. A-II. B-I. C-IV. D-II

|

AL B-IV. C-I1. D-I
3. A-L. B-IT1. C-II. D-IV
4. A-IL, B-IV. C-III, D-I

Options :

686340172789. 1
686340172790. 2
686340172791. 3
686340172792. 4

Question Number : 98 Question Id : 68634043743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & Y G 11 BT e Sifse

I 1 (&) e I ()
A [RIeroF TUS Qe HEETE $1 A% U3y 2] L [ded SaE
B. |[gcis 3= : Wil 3 & fafca sRgfIct IL [& 3R sy
C. [3F33TEA HIE B 541 eUeRiaad : G de | 11 [T.U4. diHarg
D. [[&H 520 SHa IV, [Afc 5T
i fau 7T faeedl © I el STk &1 99 Hifoil :

1. A-II. B-L. C-IV. D-II

|

AL B-IV. C-I1. D-I
3. A-L. B-I11I, C-II. D-IV
4. A-IL. B-IV. C-III. D-I

Options :
686340172789. 1



686340172790. 2
686340172791. 3
686340172792. 4

Question Number : 99 Question Id : 68634043744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LIST I (Constitutional Provision)) LIST 11 (Issue)

A JArticle 17 I |Backward Class
B. |Article 340 II. [Equality

C. JArticle 19 111 [Untouchability

D. |Article 14 IV. |[Freedom of speech|

Choose the correct answer from the options given below:

1. A-III, B-1. C-IV. D-II

| )

A-Il B-1, C-III. D-IV
3. A-IIT, B-IV. C-I1. D-I
4, A-II, B-1IL. C-1. D-IV

Options :

686340172793. 1
686340172794. 2
686340172795. 3
686340172796. 4

Question Number : 99 Question Id : 68634043744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & Y G 11 BT e Sifse

= 1 (HEUTe qraur) 11 (F9E/AED

A [uRT 17 il EESED

B. [YHT 340 IT. [HHET

C. [4RT 19 11 | 3=y

D. [uRT 14 IV, |sifieafad &1 e
i fau 7T faeedl © I el STk &1 99 Hifoil :

1. A-III, B-1. C-IV. D-11

| ]

. A-ILL B-1, C-III. D-IV

3. A-IIT, B-IV. C-I1, D-I

4. A-IL B-I1II. C-1. D-IV



Options :

686340172793. 1
686340172794. 2
686340172795. 3
686340172796. 4

Question Number : 100 Question Id : 68634043745 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Concept) LIST II (Thinker)
A |Linear social change I Marx
B. |Cyclical social change II. [Sorckin
C. [Fluctuation social change| III. [Pareto
D. |Conflict social change IV |Spencer

Choose the correct answer trom the options given below:

1. A-I. B-IL C-IIL. D-IV

| ]

. A-IT, B-IILL, C-1. D-IV
3. A-IV. B-IIL C-I. D-II
4. A-IV, B-III. C-II, D-I

Options :

686340172797. 1
686340172798. 2
686340172799. 3
686340172800. 4

Question Number : 100 Question Id : 68634043745 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 3 I = 1 &1 e sifon
1 1 (SFURIM = 1 (FaR®)
I [

. [t amtee uivadd
EEAREICIECAC T Ch R 1. [arifd
3AR-deId Tl Udd-| 1L [dRel
. [He g ufiady IV. [T

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-I. B-II. C-III. D-IV

ol Fod sl Jre

2. A-IL B-I1I. C-1. D-IV
3. A-IV. B-IIL. C-1. D-II
4. A-IV. B-IIL C-II. D-I

Options :

686340172797. 1
686340172798. 2
686340172799. 3
686340172800. 4



